## RESOLUTION NO. 55-95 CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER Sally Beals
SPONSORED BY COUNCILMEMBER Sell, Beels ON THE 17th DAY OF July, 1995.
A RESOLUTION ACCEPTING THE BID SUBMITTED BY TdM CONSTRUCTION COMPANY, INC., FOR THE SOUTH SUBURBAN ROAD CONNECTOR PROJECT FOR THE CITY OF CENTERVILLE AND AUTHORIZING THE CITY MANAGER TO ENTER INTO AN AGREEMENT IN CONNECTION HEREWITH.
WHEREAS, the City advertised for bidders for the South Suburban Road Connector Project pursuant to specifications prepared by the City; and
WHEREAS, the TdM Construction Company, Inc., was the low and best bidder.
NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:
Section 1. That the bid submitted by the TdM Construction Company, Inc., marked Exhibit "A", attached hereto and made a part hereof, is hereby accepted in the total amount of \$127,585.90.
Section 2. That the City Manager is hereby authorized and directed to enter into any necessary agreement between the City of Centerville to evidence acceptance of said bid and to make payment pursuant thereto.
Section 3. This Resolution shall become effective at the earliest date allowed by law.
PASSED this 17th day of July, 1995.
Mayor of the City of Centerville, Ohio

ATTEST:
Clerk of Council of the City of Centerville, Ohio
<u>CERTIFICATE</u>
The undersigned, Clerk of the Council of the City of Centerville, Ohio, hereby certifies that the foregoing is a true and correct copy of Resolution Number
Clerk of Council
Approved as to form, consistency with the Charter and Constitutional Provisions.  Department of Law Robert N. Farquhar Municipal Attorney

, · · · · · · · · · ·

\$ 944.00

## BIDDERS PROPOSAL

## SOUTH SUBURBAN ROAD CONNECTOR PROJECT - 1995

Subn	nitted by: td.m Cors	truction Co.	Fac.	
Havi	ng read the specifications and ex	xamined the drawings inc	cluded herein:	
	South Suburba City of Center	n Road Connector Project ville, Ohio	t - 1995	
the u	he construction of said project in indersigned hereby propose to fu aid Specifications and as shown	irnish all materials and to	perform all labor, as spe	ecified and described in
A.	STATEMENT BY ALL BID	DERS:		
	The receipt of the following Addenda to the Contract Document (drawings and specifications) is hereafter acknowledged.			
	Addenda No.	Date		
	Addenda No.	Date		•3
В.	CONSTRUCTION COST IN The bid shall be broken down		- I I I I I I I I I I I I I I I I I I I	of all items.
-	DESCRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
RENC	VAL & EXCAVATION:			· · · · · · · · · · · · · · · · · · ·
201	Clearing and Grubbing	Lump Sum	\$ 5,500.00	\$ 5500.00 \$ 708.00
202	Pavement Removed	59 SY	\$ 12.00	\$ 708.00

202 Concrete Curb Removed

118 LF \$ 8.00

				BID SHEET 2 OF 4	
202	Pipe Removed; 24" and under	30 LF	\$ 10.00	\$ 300.00	
202	Catch basin removed	1 EA	\$ 300.00	\$ 300.00	
203	Excavation, not including Embankment Construction	1,222 CY	\$ 7,20	\$ 8,798,40	
203	Embankment	470 CY	\$ 5.00	\$ 2,350.00	
PAVE	Hent:				
203	Subgrade Compaction	2,406 SY	\$ 1.50	\$ 3,609.00	
301	Bituminous Aggregate Base, AC-20	320 CY	\$ 55.00	\$ 17,600.00	
304	Aggregate Base	437 CY	\$ 28.00	\$ 12, 336.00	
402	Asphalt Concrete, AC-10	96 CY	\$ 57.00	\$ <u>5,478.00</u>	
404	Asphalt Concrete, AC-10	192 CY	s 58.00	\$ 11,136.00	
408	Bituminous Prime Coat	919 GAL	s 1.50	\$ 1.378.50	
407	Tack Coat	230 GAL	s 0.20	\$ 46.00	
403	Asphalt Concrete, AC-10	39 CY	\$ 58.00	\$ 2,262.00	
609	Curb, Std. Type 6	477 LF	\$ 8.50	\$ 4.054.50	
DRAINAGE:					
602	Concrete Masonry	0.56 CY	\$ 500.00	\$ 280.00	
603	4" Conduit, Type F	10 LF	\$ 10-00	\$ 100.00	
605	4" Pipe underdrains (fabric wrapped)	304 LF	\$ 7.00	\$ 2,128.60	
603	12" Conduit, Type A, 706.02	70 LF	\$ 32.00	\$ 2,240.00	
603	12" Conduit, Type B 706.02	33 LF	\$ 32.00	\$ 1,056.00	
603	14"x23" Conduit, Type B 706.04 Class HE-IV	40 LF	\$ 54.00	\$ 2/60.00	
603	18" Conduit, Type B, 706.02	197 LF	\$ 38.00	\$ 7486,00	
603	24" Conduit, Type C, 706.02	164 LF	\$ 43.00	\$ 7052.00	
603	30" Conduit, Type C, 706.02	75 LF	\$ 45.00	\$ 3,375.00	
604	Catch Basin, Std. CB - 2-2B	1 BA	\$ 700.00	\$ 700.00	
604	Catch Basin, Std. CB -3A	2 EA	\$ 1,200.00	\$ 2,400.00	
604	Catch Basin, Mod. CB - 3MH	1 EA	\$ 1,500.00	\$ 1,500.00	
604	Catch Basin, Mod. CB - 3AMH	1 EA	\$ 1,600-00	\$ 1,600.00	
604	Std. Mo. 3 Manhole (slab top)	1 EA	\$ 1,200.00	\$ 1,300.00	
605	Aggregate Drain, Transverse	96 LF	\$ 6.00	\$ 576.00	

de en	100	91	718	10	w	
S۸	10	٨.		J.	T.	ĕ

SPCL	6" Sanitary lateral w/fittings (including plug)	45 LF	\$ 45,00	\$ 2 , 25.00	
SPCL	Sanitary Manhole Adjusted to Grade	3 EA	\$ 500.00	\$ 1,500.00	
SPCL	Sanitary Permit	100%	of permit cost to be	reimbursed by City	
TRAF	FIC: Sign Support, as per plan note	2 EA	\$ 50.00	s 100.00	
630	Sign, Flat Sheet	13.5 SF	\$ <u>25.00</u>	\$ 337.50	
642	Centerline, Double Yellow	0.36 MI	\$ 3,200.00	\$ 1,152.00	
642	Channelizing Line	58 LF	\$ 0.85	\$ 49,30	
642	Edge Line	0.15 MI	\$ 3,260.00	\$ 480.00	
642	Removal of pavement markings	- 280 LF	\$ 1.20	\$ 336-08	
614	Maintaining Traffic	LUMP SUM	\$ 3000.00	\$ 3,600.00	
RESTORATION & MISCELLANEOUS:					
207	Silt (filter fabric) fence	300 LF	\$ 4.00	\$ 1,200.00	
601	Rock channel protection, Type C w/fabric filter	4 CY	\$ 80.00	\$ 320.00	
659	Water	8 MGAL	\$ 40.00	\$ 320.00	
659	Commercial Fertilizer	0.31 TON	\$ 400.00	\$ 124.00	
659	Seeding & Mulching as per plan note	2,861 SY	\$ 0.70	\$ 2002.70	
660	Sodding	573 SY	\$ 4.00	\$ 2,292.00	
623	Construction Layout Stakes	LUMP SUM	\$ 1,800.00	\$ 1,800.00	
		GRAND TOTA	L - ALL ITEMS	\$ 127,585.90	

C.	COMPLETION DATE INFORMATION				
	The bid price reflected above represents a completion date of November 30, 1995. If an alternate completion date is proposed, it shall be specified hereafter.				
	ALTERNATE COMPLETION DATE				
D.	CONTRACT PREPARATION INFORMATION				
υ.					
r.)	The bidder shall supplement proposal by supplying the following information for use in the preparation of the Contract.				
	NAME OF COMPANY/CORPORATION: Tolm Construction Co Tre.				
	NAME OF PRESIDENT: SAMES MAURER				
	ADDRESS: 21 EAST Robjews y Road				
	CITY, STATE, ZIP Centerville, 014.0 45459				
	FEDERAL TAX I.D. #: 3/-095/376				
	TELEPHONE #: (S/3) 433-5325				
	TELEPHONE #: (5/3) 433-5325- FAX #: (5/3) 433-8472				
	EXECUTION OF PROPOSAL				
NOTE:	Failure to sign proposal shall result in rejection of bid.				
	THIS PROPOSAL SUBMITTED BY:				
	Tolyn Construction Co. INC.				
	Tom Construction Co. INC.  (NAME OF CONTRACTOR)  BY: Dylate				
	(SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE)				
	DATE: 7-13-95				
Conta	ct person for Contract processing: BARRY Potts				
Maili	ng address if different from above:				